
 

RCI 24+ RANGER T-CASE SKID INSTALLATION GUIDE 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
**Use hand tools, impact wrenches may cause damage if over torqued.** 

 

Preparation 
1)​ If you have sliders, install them first. 

2)​ If you have a transmission skid, install it after the T-Case. 

3)​ Remove the OEM T-Case skid by removing the bolts shown below. 

 

Figure 1: OEM Hardware Removal 
4)​ Remove the OEM hardware and speed clips. 

 
Figure 2: OEM Speed Clip Removal 



 
Installation 

5)​ Begin by unpacking and removing all components and hardware. Please verify 

that all hardware and mounting components are present. Reference your original 

order invoice and verify all items are accounted for. 

6)​ Collect 3x ⅜” Carriage bolts, 3x ⅜” Washers, 3x ⅜” Lock Washers, and 3x ⅜-16 

Nuts. Collect the Crossmember and T-Case Skid. Assemble as shown. Leave 

nuts hand tight. They will be adjusted in a later step. 

 

Figure 3: T-Case Skid Assembly 

 

 

 

 

 

 

 

 



 
7)​ Collect 1x M10 speed clip. Insert the speed clip into the frame as shown 

 
Figure 4: Center Speed Clip Install 

8)​ Collect 1x M10 speed clip. Insert the speed clip into the frame as shown 

 
Figure 5: Side Speed Clip Install 

 

 



 
9)​ Collect 1x  M12 Bolt, 1x ½” Washer, 1x M10 bolt, and 1x ⅜” washer. Thread into 

holes at approximate locations and leave finger tight. 

 
Figure 6: Cross Member Hardware Install 

10)​Collect the remaining M10 bolts (2) and the remaining ⅜” washers (2). Thread 

them into the two center holes shown. 

a)​ Ensure the outside holes align with their respective frame holes. 

 
Figure 7: Center Bolts 

 

11)​Tighten the hardware in the order shown. 

 
Figure 8: Hardware Tightening 

Enjoy your new RCI protection! 
 



 
Share your new install with us on social media!  

We love seeing our products out in the wild! 
 

 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 

www.rcimetalworks.com 

sales@rcioffroad.com 

970-797-3089 
REV: 1 | 9/29/2022 

 

mailto:sales@rcioffroad.com

